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1.
The following are problems that prevent markets from providing a socially optimal allocation of resources:



(i)
Externalities



(ii)
Monopoly/oligopoly power



(iii)
Ignorance and uncertainty



(iv)
Public goods and services



(v)
Merit goods

Match each of the above categories of problem to the following examples of failures of the free market.  In each case assume that everything has to be provided by private enterprise: that there is no government provision or intervention whatsoever.  Note that there may be more than one example of each category of problem.  Note also that each of the following cases may be an example of more than one category of problem.


(a)
There is an inadequate provision of street lighting because it is impossible



for companies to charge all people benefiting from it.




(b)
Advertising allows firms to sell people goods that they do not really want.       




(c)
A firm tips toxic waste into a river because it can do so at no cost to itself.       




(d)
People may not know what is in their best interests and thus may underconsume



certain goods or services (such as education).       




(e)
Firms’ marginal revenue is not equal to the price of the good and thus they do



not equate MC and price.       




(f)
Firms provide an inadequate amount of training because they are afraid that



other firms will simply come along and ‘poach’ the labour they have trained.       



2.
Give two examples of each of the following:


(a)
External costs of production



(b)
External benefits of production



(c)
External costs of consumption



(d)
External benefits of consumption


3.
Assume that a firm produces organic waste that has the effect of increasing the fertility of neighbouring farmland and thus reducing the farmers’ costs.  It is impractical, however, to sell the waste to the farmers.  The following table shows the firm’s private marginal costs and these external benefits to farmers from the firm’s production.

	Output

(units)
	Price

(£)
	Marginal (private)

costs (£)
	Marginal external

benefit (£)
	Marginal social

cost (£)

	1
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2

2

2

2
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……
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(a)
Assuming no government intervention, how much will



the firm produce to maximise profits?  




(b)
Fill in the column for marginal social cost



. 


(c)
What is the socially optimum level of output?   




(d)
What subsidy per unit would the government have to pay



the firm to encourage it to produce this level of output?   




(e)
What would it cost the government?




(f)
If new farming technology doubled the benefit of the



waste to the farmers, what will now be the socially optimum



level of the firm’s output?  




4.
The figure shows the production of fertiliser by a perfectly competitive profit maximising firm. Production of the good leads to pollution of the environment, however. This pollution is an external cost to the firm.


(a)
Which of the two curves, I or II, represents the marginal social cost curve?



                
I/II

(b)
What output will the firm produce if it takes no account of the pollution?


(c)
What is the level of the marginal external cost at this output?


(d)
What is the socially efficient level of output? 


(e)
Assume that the government imposes a tax on the pollution caused by the firm at a constant rate per unit of output. What must the size of the tax per unit be in order to persuade the firm to produce the socially efficient level of output?


(f)
Assuming that this firm is the only polluter in the industry, what effect will the tax have on the market price?

5.
Which of the following are examples of public goods (or services)?  (Note that we are not merely referring to goods or services that just happen to be provided by the public sector.)


(a)
Museums       
Yes/No

(b)
Cross-country rail services       
Yes/No

(c)
Roads in town       
Yes/No

(d)
Motorways       
Yes/No

(e)
National defence       
Yes/No

(f)
Health care       
Yes/No

(g)
The fire service       
Yes/No

(h)
Community policing       
Yes/No

(i)
Street drains       
Yes/No

(j)
Local authority administration       
Yes/No

(k)
Secondary education       
Yes/No

6.
The following diagram shows an industry which was previously perfectly competitive but is now organised as a monopoly. Cost and revenue curves are assumed to be the same in both situations.
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(a)
What is the perfectly competitive price and output?




(b)
What is the monopoly price and output?     




(c)
What areas represent consumers’ surplus in the perfectly competitive situation?




(d)
What areas represent consumers’ surplus after the industry has become a



monopoly?




(e)
What areas represent the loss in consumers’ surplus after the industry



has become a monopoly?          




(f)
What areas represent producers’ surplus in the perfectly competitive situation?




(g)
What areas represent producer’s surplus after the industry has become a



monopoly?




(h)
What areas represent the gain in producer’s surplus after the industry



has become a monopoly? 




(i)
What areas represent total deadweight welfare loss under monopoly? 
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